
A 8x

G 2x

F 1x

DUAL KIT i

A 8x H 1x

D 1x

G 1x

i

SINGLE KIT

A 8x

G 1x

H 1x
D 1x

I

SINGLE KIT

C 1x
VIEW ON ARROW A

B 2x

E 1x

A M3x8 CSK SCREW (BLACK) 8x

VIEW ON ARROW B

C 1x

B M2.5x6 CSK SCREW (BLACK) 2x

C M2.5x6 Pozi Pan SCREW (BLACK)

D Rackmount Tray 1x

1xF Center Mounting Plate

2xG Edge Mounting Plate

1xE Rear Link

1xH Side Mounting Plate

I CORIOview (NOT INCLUDED)

4x 4x4xM6 Rack Mounting Kit

1x

RM-CV-1RU-DUAL-V1.10
Rack mounting kit for CORIOview

B

A



K 2x

J 4x

i
HANDLES KIT

4x

2xK PULLGRIP HANDLE (BLACK)

J M3x25 POZI PAN SCREW (BLACK)

Regulatory compliance

This product is RoHS compliant.

Contact us
www.tvone.com
info@tvone.com
Support NCSA: tech.usa@tvone.com 
Support EMEA: tech.europe@tvone.com
Support Asia: tech.asia@tvone.com

Information in this document is subject to change without notice. No part of this publication may be reproduced, stored in a 
retrieval system, or transmitted in any form or any means electronic or mechanical, including photocopying and recording for 
any purpose other than the purchaser's personal use without the written permission of tvONE.

Copyright © 2019 tvONETM. All rights reserved. 

nick.prior
Text Box

nick.prior
Sticky Note
Unmarked set by nick.prior




